EARAROBEEIERT — 2 N— IBISH —F

20145128298 (B) 22EEME1H

m C1 C1 ¥5%3m% Lt ‘ [R#&] B ‘ (] — | & (%) 14000 R
[A&4£] 1% :300,000” ~ 2#&:54,000” ~ 33%&:27,000”  43&:1500 M 53 :9,000 8
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N s . 3 | EIEE 1:28. 2-2-2-2 7. — 2 4 FigsE (ER)
118/10 YaAMTHhHITF * .0 (_)8 579 ng) () F17<>h
L:¥rsn7A4 B:xaba-7> HO g8k
*IEE .08, 11— . — IWA#zE (Fakk)
2170|777y ba1 L R 5 A i e | o |mEER
R:Tw IRy b BT rEy — #E E
: . t 3 | AZEREK 1:29.0 4-4-4-3 |37.9| — 1 453 | BEiERER (EM)
3 4 FKeo—a4 v b g .0 (3/4) (-3) J‘Eﬁg%‘»ﬂﬂ
R/ R vyy B:57)-n"O0-X EZHTT— L
5 s N JIRE— . =26 - ioEE (FEk)
al7lg| 7REXL->a> H 3 e 1.(219).2 3-3-3-3 | 38.1 4 <4+726) i
w1ty B:FT7)—-70-7 pliEsTae]
N 4 | AFIRE 1:29. —5-7— . - 464 | MATFES (FEH)
5l5|5|w12n=2 L & (29)5 5-5-7-6 | 38.3 3 (_(1) ,%E) N
L:g=/F¥LLy b Bi¥xv=A2U— Gt e
. . TR 229, —6-5- . = HiTEeRE (EHE
61111 VE S SPIN 4 4 e (112’;)/‘8 7-6-5-5 | 38.5 8 (4_765) Kﬂﬁ;;ﬁim
L:T7ITxZXexAL BTIXRRTT HET77— L
. NN FHET . —0-8— - Bt#EZ (AMR)
1 - BEEERCE S # 5 R 1(.33/%0 8-9-8-8 | 38.4 7 z:g;@ /J%\%;ﬁz
Z:va7x B aunNiLvT B=ivie]
: . N FEEAT . Q- — TEFz (EMH)
sl 7| vavvxsLx H o4 b 1(/73(1):) 9-8-6-7 | 38.6 6 :io) iy
L:oA7%x B:AILELRL B EE
N 3 FIEESERAVEE: H o4 /JA\SU{(%’& 1:(330).5 1-11-9-9 | 88.4| — | 9 | 470 ;{éﬁig;émﬁ)
&2:Cape Cross B:~NJLF—JL 1) He]
R ga) It :30. ~7-11- . — XKEE= (BE)
wolgli| NEsPoT i 6 S0 1(33/%6 6-7-11-10 | 38.7 1 (4+576) S
R:ZAF v 2—HI—ILK B:I€XAFKRIL By X
N RS . -10-10- - =xE2 (EE)
1B 2| 77Utz it 5 54.033 (2?% 10-10-10-11/ 41.3 10 (i:;) ﬁ%;%iﬁ
R A hk—L B:YVITFELSR FUIL NS
@ 1 — S —EBlIEf
13—7+— 9,10,8,4,5,11,1,6,7,2,3
2= = 9,10,8,4,5,1,11,7,6,2,3
Jol=5r= 9,10,8,4,1,7,5,6,3,2,11
40—+ — 9,10, (4,8),1,5,7,6,3,11,2
[ N3
B OB 10 510M 714K 9-10 740M % E 7-8 1,430 3EHE 4-9-10 1,450
BB 10 130H4 4-10 180M B & 9-10 4,940M 3EE 10-9-4 19,960
9 340M 4-9 4801 | | B & 10-9 7,140
4 1004

ABICOVWTRDTEEERROODE. TR LIV,




